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I, , Infinite Square Well — Particle in a Box:
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Quantization is result of boundary conditions 6
at x=0 and x=L: ¢(x) is continuous!
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Amplitude
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A particle in an infinite square well Is associated
with the following initial wave function:
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Which possible result(s) could a measurement of
energy give?
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A particle in an infinite square well Is associated
with the following initial wave function:
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What is the probability that a measurement of
energy would give E , as result?

A O P')’UL oé")"‘ﬁa CMM(J EZ,

. . -:[C [2__:(_,_)1—‘
E. 1/v2 “ Uz >
(C/ 12

D. 1
E. Something else




A particle in an infinite square well Is associated
with the following initial wave function:
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What is the probability that a measurement of
energy would give E ; as result?
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A particle in an infinite square well Is associated
with the following initial wave function:
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What is the expectation value for the particle
energy?
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I, , Square Well of Finite Depth:
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